


LO: to look at the chronology of events in the Stone Age




What does chronology mean?

Chronology: the arrangement of events or
dates in the order of their occurrence.




Can you put these events into
chronological order?

Usain Bolt :
Romans . Dinosaurs
invade VS LI lived on e

. gold at the Elizabeth II
Britain : earth .
Olympics is born




Can you put these events into
chronological order?

Answer

Usain Bolt
Queen wins 100m
Elizabeth II gold at the
is born Olympics

Dinosaurs Romans
lived on invade
earth Britain




The earth is around 4,500,000,000 (4.5 billion) years
old. We can't possibly know exactly how old, so we
wouldn't know when to start counting from.

The system we use has no zero. It works forwards from
1AD (AD) and backwards from 1BC (BC).

BC stands for 'Before Christ’ and AD stands for
'‘Anno Domini' (the year of the lord).
Some people use BCE and CE instead of AD and BC.




It's hard to get your head round, but our written history
in Britain began only a tiny blip in time ago, courtesy of
the Romans in AD43!
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Which event do you think came first?

Can you put them into chronological order?

No more woolly
mammoths in
Britain.

This was possibly due
to grassland turning
into forest with the
changing climate.

Great sheets of ice
cover Britain and
food is scarce.
Early humans are
forced to leave for

warmer countries.

The first members of
the Homo genus
inhabit Britain.




Which event do you think came first?

Can you put them into chronological order?

The first members of
the Homo genus
inhabit Britain.

No more woolly
mammoths in
Britain.

This was possibly due
to grassland turning
into forest with the
changing climate.

Great sheets of ice
cover Britain and
food is scarce.
Early humans are
forced to leave for
warmer countries.




When do you think these events happened?

800,000 BC

200,000 BC

The first members
of the Homo
genus inhabit
Britain.

Great sheets of
ice cover Britain
and food is
scarce. Early
humans are
forced to leave for
warmer
countries.

12,000 BC

No more woolly
mammoths in
Britain.

This was possibly
due to grassland
turning into
forest with the
changing climate.




YOUR TASK: Look at the timeline cards on the
class page.

Can you put them into chronological order?




